(L&l

1
) (1) (e (=)
Fl:ﬁ —@‘ftﬁ% AE A Flr—h E}Fﬁg‘j— MDA CrHz,
1 (A (#) (%) () BI—s34 F
viin voanFaiy 1% (BRALA S A)
(1) CsHs + 502 =3C0: + 4H0 + & kd
HER FuAOEBRHIE CHa THDEH D TRIT 12.0X3 4+ 1.0X8 = 44.0
koT, 7ms38.80¢ ik 8.80+44.0=0.20 mol
Tl 1 SFOERIRECERILS 4 BERED, I u s 0.20 mol DEMECIHEE AR AEEFL
e (2) 0.20 mol X5=1.00 mol
2
ARG EOEEKEBICRIT S 1 mol DRI 224L 0T &R
22.4L - mol! X 1.00 mol=22.4 L 224 L
PREEEASR & W F B AL CHE
® A5y
B BLRLTVBHLEEATED
; LEEH FHEHR LEH
B | #ha — RS —
: BRD B 2% R B B
5] O CHy H:G CHs
[>( >—CH,—CH
S [:j/ \t>>“CH3 O F
R | st &t
6 Br—CHa—CH>—CH>—Br 1, 3— T mESais
B 4} CH=CH + 2[Ag{NH3),]* — AgC==CAg+ 2NH3 + 2NH,"
7

(2)

A




{L 5B

i

M

7 4 v
=1 P B

BEEARET

= #F b
BEE 7

—E

@

wi62.0 (mol) + 1.0 [kg] =w/62.0 [molkg)
3.7=1.85% (w/62.0)
w=124 [g)

12X102 g

i

)

CaCO; + 2HCI — CaCl; + COs + H20O

(2)

x % (10.0/1000) = y x (5.00/1000)
y=2x

3)

x%(50.0/1000)=(0.20/100)x2 + yx(17.0/1000)
y=2x TéHDDT
50.06=4.0 + 17.0X2x

16.0x =4.0
x=0.25

0.25 mol/L

Ll

M

NazCQsz+ 2HC1 — 2NaCl + H20 + CO2

2

REEF U 7 A% xmol £ T3
2x % (10.0/1000) = 0.10 x (18.0/1000)

x=0.09 mol

NapCOs; DIHIE 106/mol THBDT B 10.0g POEKRERF b

Uaiz 0.09X106=954g

95g

i

(n

(=30 B
Cu* +2¢ — Cu

2H.O0 — 4H + Oy + de—

@

1.0 [A) x1930 (s] =1930 (C)
1930/96500=0.020 (mol) ET-OHEE

0.020%(1/2)x63.5=0.635 g

0.64g

3)

0.020%(1/4)x22400 =112 [mL/mol)

L1X1¢* mL




(LR E

3
il
) ()
i RT 8.3x103x400 =
, [M=p— &2T M=1.39xﬁ=46.1 DFE 46
N ot
RS LTc%#% x mol, (K% VL &L35L NH (202p? »

]

0<x<1BLILTV>0,LT

¢ T INJHP - (—0BA-0P

L V+9)-JV+92-92 (V+9) —V(V+18)
B 9 B 9

FUE=TIE 2 RDT z{(V+9)_V9V(V+18)}

g

V+9) - VIV + 18)}

9
mol
" (i) - (i) .
A B ©)
C ® D @
fi
5
E ® F
G @ H
Ff 2NH,Cl + Ca(OH), —> CaCl, + 2H,0 + 2NH,
BRRKTT V=T EEENVELNLDDT,
i 72 _ 300 mol
7 22.4
k5T, 3.0%x63.0=1890g 19x102 g






